Локатор

~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~

Личный код: не указано

Фамилия: Основина

Имя: Виктория

Пол: F

Возраст: 18

Дата работы: 14/02/2007 13:02

Время работы общее: 2104 с. (35 м. 04 с.)

Время работы чистое: 2104 с. (35 м. 04 с.)

Отчет о работе:

Тип эксперимента                  N  time  P(S)  Hit  FA  CR  Miss   P(H) P(FA)   Итог  Tр,мс   d`

Тренировочная серия   P(S)=0.5   10    90   0.5    2   1   4     3   0.40  0.20           703  0.6

Тренировочная серия   P(S)=0.5   10    90   0.5    4   4   1     1   0.80  0.80           597  0.0

Тренировочная серия   P(S)=0.5   10   130   0.5    5   0   5     0   1.00  0.00           725  4.9

Тренировочная серия   P(S)=0.5   10   110   0.5    5   2   3     0   1.00  0.40           458  2.8

Тренировочная серия   P(S)=0.5   10    70   0.5    4   4   1     1   0.80  0.80           484  0.0

Тренировочная серия   P(S)=0.5   10    70   0.5    3   1   4     2   0.60  0.20           515  1.1

Тренировочная серия   P(S)=0.5   40    70   0.5   17  15   5     3   0.85  0.75           445  0.4

Тренировочная серия   P(S)=0.5   20    70   0.5    9   5   5     1   0.90  0.50           399  1.3

Оценка: 5

-----------------------------------------------------------------

Локатор

~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~

Личный код: не указано

Фамилия: Основина

Имя: Виктория

Пол: F

Возраст: 18

Дата работы: 28/02/2007 11:23

Время работы общее: 11601 с. (3 ч. 13 м. 21 с.)

Время работы чистое: 11601 с. (3 ч. 13 м. 21 с.)

Отчет о работе:

Тип эксперимента                  N  time  P(S)  Hit  FA  CR  Miss   P(H) P(FA)   Итог  Tр,мс   d`

Тренировочная серия   P(S)=0.5   20    90   0.5    7   8   2     3   0.70  0.80           494 -0.3

Тренировочная серия   P(S)=0.5   20    30   0.5    9  10   0     1   0.90  1.00           505 -1.3

Тренировочная серия   P(S)=0.5   20    30   0.5    8   9   1     2   0.80  0.90           521 -0.4

Тренировочная серия   P(S)=0.5   20    30   0.5    6   5   5     4   0.60  0.50           361  0.3

Тренировочная серия   P(S)=0.5   20    30   0.5    7   9   1     3   0.70  0.90           421 -0.8

Тренировочная серия   P(S)=0.5   20    30   0.5    7   7   3     3   0.70  0.70           424  0.0

Тренировочная серия   P(S)=0.5   20    30   0.5    7   4   6     3   0.70  0.40           558  0.8

Тренировочная серия   P(S)=0.5   20    30   0.5    5   6   4     5   0.50  0.60           519 -0.3

Тренировочная серия   P(S)=0.5   40    30   0.5   15   9  11     5   0.75  0.45           461  0.8

Тренировочная серия   P(S)=0.5   80    30   0.5   22  13  27    18   0.55  0.33           430  0.6

Тренировочная серия   P(S)=0.5   80    50   0.5   24   6  34    16   0.60  0.15           428  1.3

Тренировочная серия   P(S)=0.5   80    50   0.5   20   2  38    20   0.50  0.05           532  1.6

Тренировочная серия   P(S)=0.5   80    50   0.5   31  19  21     9   0.78  0.48           428  0.8

Тренировочная серия   P(S)=0.5   80    50   0.5   23   5  35    17   0.58  0.13           491  1.4

Тренировочная серия   P(S)=0.5   80    50   0.5   30  20  20    10   0.75  0.50           438  0.7

Тренировочная серия   P(S)=0.5   80    50   0.5   29   7  33    11   0.73  0.18           477  1.5

Априорная вероятность P(S)=0.1  200    50   0.1   10  38 142    10   0.50  0.21           592  0.8

Априорная вероятность P(S)=0.3  140    50   0.3   20  17  81    22   0.48  0.17           493  0.9

Априорная вероятность P(S)=0.5   80    50   0.5   24  18  22    16   0.60  0.45           449  0.4

Априорная вероятность P(S)=0.7  140    50   0.7   65  13  29    33   0.66  0.31           455  0.9

Априорная вероятность P(S)=0.9  200    50   0.9  150  12   8    30   0.83  0.60           393  0.7

Априорная вероятность P(S)=0.9  140    50   0.9  105  12   2    21   0.83  0.86           310 -0.1

Априорная вероятность P(S)=0.7  140    50   0.7   84  31  11    14   0.86  0.74           362  0.4

Априорная вероятность P(S)=0.5   80    50   0.5   35  27  13     5   0.88  0.68           282  0.7

Априорная вероятность P(S)=0.3   80    50   0.3   13  35  21    11   0.54  0.63           359 -0.2

Априорная вероятность P(S)=0.1  140    50   0.1    7  44  82     7   0.50  0.35           404  0.4

Оценка: 5

-----------------------------------------------------------------

